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Unit 1

The assessment objectives will be allocated in the following way.

0/2 é) T | Marks
AO2 Response to written language 65 65
AO3 Knowledge of grammar 25 25
AO4 Knowledge of society 10 10
TOTAL 100 100
The marks will be allocated in the following way.
AO2 AO3 AO4
Section 1 27 10 3
Section 2 15
Section 3 23 15 7
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Total = 10 marks

Section 1
Question Accept Marks Reject
a) 1-1 1
1-2 1
)-3 :
1
1-4
1
2-5 :
1-6 1
N-7 1
1-8 1
N-9 :
y-10
Total 10
Question Accept Marks Reject
b) Ql 2
Q2 2
Q3 1
Q4 2
Q5 2
Q6 2
Q7 2
Q8 2
Q9 3
Q10 2

Total = 20 marks

Total for this section is 30 + 10 marks for grammar = 40 marks
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Section 1(b)

The correct answers for the questions are:

MON NN 10 P2 NN .02 NN TIND NN NN IPININDN HIWMNN O .1
Or anything to this effect .02 913 MNOTMONM MAILNH NITNN NAR/DDWI PN

PRV PPIRPOIO /MDY DINNPI TIND DO NXI 1Y 7PN NYTN DIPH NIMDNY MY .2
Or anything to this effect NN HW PURIN LINPN DY NI IIT TIND NN

209 YTV NP0 PR YN L3

/AMNN OY NTIAYAPY PIINY NI DN DAN ,NIWN ATIAY Y90 DT IV OImDN 4
Or anything to this effect .y2712y X 909D 187 NS Han/m MM b TV

Y D001 /50NN DMRNN DY 1D PYNnD NIND NI/DMINN NYSN NN Y0P 8D 1p1an .5
Or anything to this effect .xWN2 MbyY YONN/NIND MDY

NI IR 1001 NIND MDYO/OMN ¥OUS/0NN Yipad mdNnY 1o1 O 17 Y80 19120 .6
Or anything to this effect .\o¢ nawma/opny Ny

DPYNIN SODIVYND 7PN INTIWT TOUNN FPIVNI THNMIONND NI OIPINPOW .7

MNTD 02D NND Y70 G0 722 SPINIIN TEININDIAN NNINN DY NXIT D0 PINPOW 8
Or .0N5Y DYYNRM MDD VYN TA/OPSNIM DPUNIN TN NINIW/NIN 710D T

anything to this effect

0 W IPONIP P NPNY NN NN OND 0D TINY A770MN N0 DY NI PH MmN 9
DD ONPN IR 202N WIN TN, ITPITTII TPONIY NPPOM 1D IS OND .IPINTN
Or anything to that effect 421 W™ /P50 wws DVWWNPN

11270 D) NONX ,DIN20 27 XD NNN DY DOISNPN DR YINYD DX D31 DWIN 0¥ .10

Or anything to that effect .ooNa Dy dys

Total for this section = 40 marks
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Section 2

For the translation, the following criteria will be used.

Marks

Response to written language (AQO2)

0-1
2-4

5-7

8-11

12-15

Little or nothing of merit.

Shows poor understanding of the original and translated in a
language that has a very limited range of vocabulary. Errors in
spelling, punctuation and grammar impede comprehension.

Shows satisfactory understanding of the original and translated in a
language that has a limited range of vocabulary. Errors in spelling,
punctuation and grammar are intrusive and affect comprehension.

Shows good understanding of the original and translated in a
language that has a wide range of vocabulary. Accurate, with only
a few minor errors in spelling, punctuation and grammar.

Very good understanding of the original and translated accurately in
language that has a wide range of vocabulary. Excellent spelling,
punctuation and grammar.

Section 3

Total for Section 2 = 15 marks

Where Knowledge of Grammar (A03) is being assessed the following criteria will be used.

Marks Knowledge of Grammar (AO3)
0-2 Shows very limited grasp of grammatical structure. Errors are such
that communication is seriously impaired.
3-5 The level of manipulation of structures and the number of errors
make comprehension difficult.
6-8 There is some awareness of structure. There are still basic errors but
communication is generally maintained.

9-12 The manipulation of basic structures is generally sound. There are
attempts to use more complex structures, but not always
successfully.

13-15
The knowledge and use of most structures is good. There are still
some inaccuracies, but these are usually in attempts at more complex
structures
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Marks Knowledge/Response/Reaction (AO2/A04)

0-5 There is little or nothing of relevance. A zero score will
automatically result in zero for the question as a whole.

6-12 A limited number of points made, many of which are vague or
irrelevant. No justification for points made.

13-18 Some relevant points are made, ideas are not clearly organised.
Some reaction is evident, but points made are not always justified
or illustrated. The answer generally lacks a clear focus.

19-24 The answer is generally on the subject with a number of relevant
points, but not always appropriately supported.

25-30 Relevant points are clearly made. The answer is focused on the
question and offers ideas which are logically and clearly
developed. Good personal reaction, usually justified.

Total for Section 3 = 45 marks

Total for Unit 1 = 100 marks




